FR27EE MEELHBRE RE—E

B OB V2741082480 (). 25H (H) B RE R
iy A TREERAFEEE B #® O OE O HEA R
PR GR: KoL 2045k i EE o EHEKRYTT
H A+ fiH 147 2f5r 3L AfT 5L 6{3r AL S{ir
10H 24 H {00 H B 11.19¢-2.3)| vk H4E 11.32¢-2.3)[=1E B 11.33(-2.3)[ BB ¥Rk 11.35¢-2.3) I MK 11.46(-2.3)|fff W& 11.47-0.7)|H%E B 11.49-2.3)/NE FEFB 11.50(-2.3)
o ) 255 DY B[] 5 7 =il T HFKR I % [o) 265 DY 3% [o] P
10250 200m HHOO 22.56(+ LK K 22.71(+1.4)| 88 X 22.92(+0.2)|FEfE W 22.97+2.0)|%  HOE 23.04(-0.3)|FE kS FE 23.12(+1.4) | 2 A ) 23.192.0) /L REEE 23.20(-0.3)
[GEEPN ATR A 3% [v) p A FR 2% [o) 275 7Y 3% [i] P 3% [o) P
wgoap|  ATEE A e 14.17C-2.5) &% KHi 14.72(-2.5)| EN X 14.96C-2.5) 3 st 15.000-2.5)[4 % FiF 15.06(-2.6)[fe % A ZEIE 15.142.5)|FF & B 15.16(-2.6)|f % A FIA 15.21(-2.6)
100m T E /N TLEIF /)N JERKTC N [ | 2 H &/ R ) PEL e we/ T AN
L0F 24 INEGE | B3E 13.00-1.5)[#&E Kot 13.07(-1.5)[FH =1 13.27-1.5)[88%  Pepk 13.55(-1.5)|te A B2 i# 13.61C-1.1)[\Em ®Ba 13.75(-1.5)|tE  B& 142111 G 9K 14.36(-1.1)
100m BERIKTC BERIKTC HEL N = [z - 2h BT AY—FT7 FEKTC TLEIF/ N
08 2411 400m TH ) 5031 —HE 50.51 =M B 50.88[AE %% 51.23|%TH B 51.27[ 1A HEXRER 51.48|%l A 51.53|#x K i 51.76
— B EINCT ETK — B — 3% [ P 1B I\, ETK % [ 55—
10825 800m M e 1:55.45 |+ ik 2:0L. 131 K 2:01.52(%% K& 2:02.23|FH 1) 2:03.17|E#E  HEX 2:04.17|FFA  BK 2:04.23|484 K 2:05.10
R A% — B — 1% [o) p PE A — B EEHINCT KIRT 3 A FR — B
10A 24 H 1500m FxRhTAE L EBx )L 3:49.11 R B 3:59.81|RER  EE 4:00.45|F M E 4:01.34| T  Aith 4:03.41(11H  #H} 4:06.99| \EMR K 4:07.12|[E8 JEFE 4:07.74
& FRE GR|® LK & H e [] 1 4 [IEEIPN o ] 4 % [v] P 5T BHR
wg2ap| EFE sm o EVRE 5:11.98( K BAFH 5:14.98|FTHE A 5:17.63|fnH  IH%E 5:17.98| &8 4B 5:25.55| kT KA 507.00|1c8E 5:99.57
1500m fe - %A H gy H g/ N AR A SN )N
10F 24 NG [SIE KA 5:03. 745 M 5:07.81(fER B 5:09.76[fER  FiE 5:17.52| 1 5:22.81[pkH X 5:26.43
1500m fiz_ | 2h A ERESZIAN SR )N TLEIF-7 N FH /)
10H25H 5000m FrRTFAL L = BF L 13:58.07367K FH—HAR 15:03.21| g ABth 15:03.65( T2 HEfE 15:04.10| & dg & 15:09.05|fEA EHE 15:10.40|B R 15 15:10.67|EF B3k 15:12.57
& TR GR|TEAMT 5 /1A [IEAIEIPN HERFI [GEEUN /&) H AT AR AT B %
W0g24p| HomH A ST 16.72- LB 5@k 16.77CLD|#0A  FIK 16.79(-2.3)| KFn - Zhlk 17.04CLD|RER 1E 17.40C-2.3)|75 )11 ZHu 17.43C1.D)| T2 KH 18.10CLD|F)I  B#E 18.26(-0.5)
(1.067m) | ELy ik il Ak PR s gL Bl IR — — B —
10825 400mH HA B 54.04|E%x R i 55.75|FF E kK 59.53(/F L H 1:00.02[{# 0 FEK 1:00.74|8 e 1:00.97|#EE 1:01.06[88AK  FIL 1:01.58
(0.914m)  |R%fA 50y R 55— IREE— K HETK US:A — B B R
A28 3000msc ZHh  SCHR 10:16.32| T3 & 10:23.09|147- #=2Jr 10:32.23| ks #HE 10:33.92| %8 fE{h 10:35.97|1c ik fEE 10:39.54[4LJ1 Feth 10:44.07| %W 1 10:44.93
—PI ¥ i FRE ARl %Ak A %[ 55— AFKR 180
wa248]  5000mw ME 22:13.62(%5mW ¥ 25:04.07| % 2 KAk 25:07.17|F# ==k 25:32.25 |0 HEARER 25:53.17|% M §i7 25:59.25|5FFF B 26:03.99|A)11  3LE 27:08.15
&40 &£n T Wy kil HRpLE &7y 1E54e 3% [ P TR TR
EEHBH T 43.22|REMEIMA & F 43.77| & B A F 43.80(fLBFAE F 44345 H A F 4435 %M T¥A 5 F 44 39| NFEAH F 4460 5F KA F 44.75
geE B KN & R IR EBA KA Hhid —H B B RER G &2
10/ 24H 4X100mR  [¥rH  H# R FE Per R w3 s B A &4 E N | WH RS
G Rk HHOOEf CRE I VN INERE HeE = Yer R Fnzk B i wH B
ANEC BIK HiE  BE BEE % e AR H)I e £ EFE N ] ISET.
AFERE F 3:23.97|K Mg A -5 T 3:27.54| 1B HACE T 3:28.98| A ZEA-H F 3:32.44| M T¥A-E F 3:32.96| K ME—5 F 3:34.20| —Bm=EE-E T 3:35.69[ KM mHB- = T 3:36.17
N By MRS /N BIK B e INER R xR & W R FEIER o
10H25A] % 74X400mR [fAA  #K Flifn g K FH FH O TEE TH  # BE JERL
HR JIAS R BrE B EF OBk AN I xR F&E i SCHR 3 R §
B —hk R B ek B A it JIX #®A e R (RN
wmH B Im85(EfE ¥ Im85| KFn  ZhlA Im80 A7 BEX Im80|NH  FESC Im80|[A e 1m75 [ =ESV N 1m75
10A 25 ok ATK — B — HiERFI ARG EESYN % [o] 275 DY BRGLE
3 H 5t 1m75
3% [v] P
=% B 4m80|L [ EAE 4m50|/MH B 4m30( &1l % 4m20(%5Hh 1A 4mOO| P EE  BHE 3m80 0 NI SN 3m70
o L& NN FEEEYN fil& HRA T 2% [o) P BRI
10H24H 5 Bk NUPASE =311 3m80
3% [v) P
10F 25 - WH 3 6m96(+1.0)[f2 2 A w3t 6m69(+1. )| &)1l F=A 6m60(-0.4)|)II4F  #i K 6m47(+0.8)| "W HEAk 6m44(+1.8)|45M R 6m4100.0)|EHE HZ 6m38(+0.4)| kA B 6m38(+0.3)
ATK il ATK HTK S P e HTK ATK
10F 250 B | T ORE 3m93(+1.5)|MEA; WA 3m68(+0.4)| A% ERGk 3m65(+1.4)
AEMERE ) Ie -1 H &5/
10H25H hEetE | 2B OKH 5m00(+0.7)| 2% Fak 4m35(+2.2)[fbk  fER 4ml4G+L.D)[EH kR 4m09(-2.0)[# K% 3m67(-1.4)
AR FEFAKTC LN RN RERKTC fiz b2
10F 24 — Bk EH EH 4m31G+1L.D|1RAT T 13m73(+1.2)|ReR ™R 13m36(+1.3))IHE #f 13m15(+3.3)|#E 2 K JEik 13m04(+1.5)| 4 Bk 13m00C+1.4)|BRH  $HEE 12m98(+2.4)|fifiy = 12m97(+1.2)
(IEEN AE5 R &K K 154 % [ 5 = ETK SB[ T
10H 24 b e = LU ] 13m35(#fk 3Tk 13m23( % HE  BLK 12m67 [k 12m05|#2 2 K K 11m93[/h e Hed Hm78|E&) 1mo2[&m ) X 10m95
(6.000kg) | kinEE— il — B — I T2 EAHE KK KIREE— KR —
10/ 25H AR | BLR 39m67|E L KK 36ml3[R¥H T 34m37|Ress B 32m69|MEAR N 31mI8|RER  FHK 3Im35| Bl e 3iml4|fejE Kz 31m13
(1.750kg) | —BA%— AR — 5 i RT3 T ARG — AR —
103 25 p| B e g A1 R 45m33 (A7 RAK 2mo2|HE K A2mA2| A2 fimE A1mo4|teiE  Kze 3Bm7s|EG it 3Tm46| & kst 34mo5|1E M wEh 33m83
(6.000kg)  [kiRE— Bk HRATHE I T3¢ IR — BERFA EH %K
— e —Pr | T R 37m22
10H25H (7.260kg) |12 Ao
105 24H UL R x 71m39| A g 58m84|T#E 55m51 |4 i B 5lml4|fEr W 50m37|mfE Bt 50m15[REA  HiEH 48mO2| e IRH 45m19
(0.800kg) | GR| ) 55 1Y =P T KRR KA R TR g




TR27EE RERLBES RAB—E

H B ERk27410H248 (+) . 258 (A) 2 b2 NN (- S Y
i o TR EE AR Y R A SCR
s GR: ki sth VI = Sl =S/ /A i o
A f; fEH 1 2051 BRI AT 57 6/ Thr 8
R 13.10(-3.4) S R 13.27(-3.4)| =i EBE 13.29(-0.5) AN iR 13.30(-0.5)& K TH 13.36(-3.4) |51 13.52(=0.5)
108248 100m e sat20lEe) RER 55— B R[] ke JREE ) 25 Y Py
B K3E 13.10(-3.4) R Hn 13.29(-3.4)
Jak [ R g% [ R
l0f2qp| NEE (PR AR 14.42015) /M iR 14.45(+1.0)| 5tk 722 % 14.7400.6) 1T 20 14.83(+0.6)| 1 H £ T 14.99G1.0[2)11 & 15.22(+ 1.5)|8a A HEne 15.25(+1.5)| % #« 15.34(+1.0)
100m  |g&[AKTC FERKTC FERKTC ERKTC EAHRN BN 757 fag |21 MK TC
107124 AgetE |EIR <5 13.72(-0.3)|/%H  %H 13.99(-0.3)|%H  {EH45 14.18(-0.3)|FH  &KH 14.20-0.3) |1k 5 FHEHE 14.59¢-0.3)| & &5 14.87(-0.3)|/h % 15.04(-0.3)| =7  #hF] 15.22(-0.3)
100mU |p&RAKTC FEFHKTC BEFHKTC JREIAKTC H &/ £ )N &R 257 L9771\
wazsal  200m FI EE 25.82(+2. D[RR WER 26.04(+2. D/ &= A 26.10+2.D|/NE 3 26.35(+2.1)[pEx B 26.48(+2.1)| &G &0 26.86(+2.1)|/NEF TR B A PR 27.29(+2. D|FE  BEXE 27.32(+2.1)
it ¥R LEE PN R[] AR Jag% [ R R [ R S 5 — R [ R i 5 —
waz24al  100m NUH R 58.01)/h L &=A 59.24|FH e 59.28| KA HkE 59.84(F% DX 59.95| 7tk 1:00.05|fillis X&5E 1:01.28|f&H W 1:03.32
% [o) P o5 [ Gl R b ¥ &0 =) B TR [ 55 DY b ¥
A28 soom AR B 2:20.400/MLUH FFE 2:21.81|8877 AR 2:24.00| & 1L i} 2:24.50|F)I 1AL 2:28. 12\ EM v 2:28.98|B8 HEA&ET 2:29.91|EfE  HEAR 2:34.39
% [ ke R[] P THEH it - FHEE b EFHrE Jb L TR IR
L0A 25E INEREE [RY #&AE 2:37.02|J11J5  #&JY 2:40.71|HF AR 2:43.13| 7%  E5H 2:45.34| &)1l #iF 2:45.50|)11 = #kiE 2:46.05| 58 & 2:49.28|MH%E W 2:57.94
800m  |B¥[HKTC fi b %A JEE|117]N &I/ Fi [ %A REREKTC FE) /N RN
W0A250 AFEE ik A 2:33.28| M 2 2:34.97|f@fE  TBE 2:41.47/NIEN B E 2:42.45|)I1FF  BEZE 2:49.06|+ 0% F¥E 2:53.54| Kk 2:57. 78| A)  H3E 3:13.76
800m 7741/ fiz_ | %A it EJRC PRA/N H b/ A& it 7] H &8/ NN
w0248 1500m g MRE 4:50.70| &1L (i} 4:57 57| I FEE 5:00.48(B8 H&T 5:02.61[/NBFE bR 5:03.02|/V s 3 5:04.99|B S 1X5FE 5:07.56|1%E8 ¥ 5:07.60
A& Jb 30 /N FEIR IR 55— % o) 265 Y ERRA — B —
0A258l  3000m e 10:22.58| K7  HEpE 10:34.11{@AH Az 10:34.78||fY &R 10:36.02(%5u ¥ 10:39.27|BEW  RAy 10:39.87| &)1l fE& 10:41.56|#5F  fliwg 10:44.22
BN SRpAE KIRTE BT R L5 B[] ke TN % o] Gl R
1082458 100mH e K W 16.26(-0.8)|5%  #iFE 16.30(-0.8)|[¥&H B4R 17.00-0.8)|7=mH  &HEfik 17.16¢0.DIA  H7 17.26(-0.0)|48 B 17.33-0.0)|dras ok 175708 kS B 17.73(-1.5)
(0.838m) | ki i b b b b i 7 IR o 55— A Bl T/
107250 A400mH FH e 1:05.32|fi% \OX 1:08.14|fe 2 A WE 1:10.50|MiliB &% 1:11.43(Fm  E& 1:13.49|15H &k 1:13.83| 4k E£H 1:13.89|F A BeH gk 1:16.36
(0.762m) | L ¥Hrg b ¥ % o) ik % [o) 275 P b ¥ % i P TR [ 55 DY AL
107247 s000mw | RE 26:21.60[HiH ik 2T TL(HEIR 1R 98:18.67| @& WAL 28:32.80[tE Wb 28:40.59| /N HKEE 29:21.37[& W mE 29:26.05| 510 2 30-18.18
£n GR|t -¥HF £h it - #HrEg RER 5 — it ¥ i) R 55—
LS F 49.54|Jb EFArFFA-E F 49.87| &N -5 T 50.62| &M —5 F 51.02|dt EFRED- S F 52.09(1t EFIREB- A2 T 52.32|{E&H A F 52.44|1t&d A F 52.61
N WEHE wiy  EF EiE B KFF H3E er R 3% R % B EEm
1024 [ 4X100mR |/ A3 B R W Ha JIF f 1 A8 BE TH R Hig  HHE VelgE FETOEE
= ek FH OB ek BAET Ra[Es  BESE s AR =BK HE EiE R KB kE
A f[i% \oX wEOTE HE AR g R B B gk W AR
b EFEB-E T 4:05.59|dt LA T 4:09.89 | H— 8 F 4:18.42|fE&db-m T 4:24 59|REEFEIUC 28 F 4:24.86|4t LMD A F 4:28.66|3 N~ rT T 4:29.51|AE-H F 4:29.72
AW HHE =B A Ra[is  BESE W fER AR HE wH o RE (e N=V B EEFT
10H25H[ 4X400mR |Fi% o s ETE S &R HE K g BT HE AE 5 HRRE NG e
i B FH B JIUK RF VelR FETEE ANTTR=§ HH O Pkt I AR MER
F)I I S EL KA hE = BHD TH W /ML S HBO FiEr
K& 3 Im55|5 8 BHE 1m50 ZH  Hiff Im45|EiE  BRE Im45 |55 F 1m45|HiN TEAE Im40| 558 R 1m40
wfosal e b ¥R itj’:iﬂﬁ % I HRFAE I T/NEEH Tl £ =
i R 1m50
A TR
gy, |FTH PR 2m90 (&5 =M 2m70[E B 2m10
R T T RPUR T KR
wa2sE Lk BEH R 5mb9(+0.5)[#F = 5m41(+0.2)[fefk  EfE 5mll(-0.8)[ & HF faRLAx 4m9T(+2.5)| 1% A 4m85(-0.6)|Fifes =% 4m78(-1.0)| ¥ &Iy 4m7300.0)|5 5 ER 4m72(-0.3)
b ¥R Rl 81 % i) P % o) ek T[] 26 = fEkp Ak
108250 /J‘%SE A B 3m81+1. )Y X FkiE 3m65(+0.2)|FEHT A 3m35(-0.9)| &1l 0 3m26(+1.1)
BB pe -5 RERKTC SR e b
L0A 25 AN (P D ES 4m14(+0.1)| %M 2 0A 4m03(-0.6)|ZH £ 3m92(+0.9)|\iE Bk 3m83(+0.H)|FHH U7t 3m74(-0.8)[/\ R Jzak 3m73C-1.0)|EHE BT 3m64(+0.4)[FrE Pl 3m44(-0.4)
G e e RERKTC %57 1/ F5 /)N e |- 3k L8977 %57
wa2anl = _EE 0% 10m37(+1.0)|/~hm\ - & E 10m36(+2.9)|Hi% A 10m33(+2.6)| &M Hk+- 10m25(+1.2)| 5% #HE 9m99(+0.6)| =i IR e S S 9m79+0.4)| M fEE T om71(+2.7)
RAGIEES =5 % o] ek b ¥R =2 ) b HE Rl KARTE
L0H 24 R (S R ImO6| KM HE T SmOO(7BM  Hi Tm5(FRME  FEIT Tm64 (/K11 Fnd 6mI6|IEH Iz 5m86[ R &5 5m49
(2.721kg) |3giR —rp WER E4p VR T/ TN T/
10A24H i [A T 1Imb3| ¥ Jnl 10m92|EJR  EHHE 10m66| 78  fErg 9m67 |l HE Im22| A ERE om22|fe & AR LS omo3|iin  BAL Sm71
(4.000kg) | I — B — e[l KA E B IFER |2l AN
10A25A Mgy [&EB T 38m26| MU U 33m31| = HE 3BmO7|EIR  HE 3Im71|flg AR 31ml9|/NEp e =HT7 o6m31 |2 A LS 25m65|HIE  YHHR 23m71
(1.000kg) |4k FyHpg S LR —Ba%— KA R PN ik ¥R b ¥
10A 250 Nov—B VB KR 35md6[ LA B 32m73|/NEFSE RS 32m22|VEfE BTy 28m91|EiE  BERY 24m39| )\ FHIE 4 21m38 | FI 21mO9| & B T 20m71
(4.000kg) |k R 5H— SN KADE BT KR — BRI T3 BE R B [ESS (5SS
10A 241 R0 A Wil 39m45| 5 E BF 32ml7|ER  KE 30m40|HH  #Ak 30mO8| Mus X 30mO2|ffity  FEEE 29m24| /A (AR E 2Tm95| =%  HA& 27m55
(0.600ke) | JefpiEs sk KARTE KR T2 SB[ 55 DY RIRTE AR S5 TR —




